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SECTION-1 3

SECTION 1

Listening Comprehension
(HEALEER R ~1679) | R

Time: 40 mimites

In this section of the test, you will have an opportunity to demonstrate your
ability to understand spoken English. There are three parts to this section,

with special directions for each part.

Part A

Directions: For each problem in Part A, you will hear a short statement. The
statements. will be spoken just one time. They will not be written out for you,
and you must listen carefully in order to understand what the speaker says.

When you hear a statement, read the four sentences in your test book and decide
which one is closest in meaning to the statement you have heard. Then, on your:
answer sheet, find the number of the problem and mark your answer.

1.

(A) Mr. Gilman arrived at 9 : 45.

(B) Mr. Gilman arrived at 10
o'clock 4fter a delay of an
hour. *

©Mr. Gilman didn’t arrive

~ until 10:15.

(D) Mr. Gilman was supposed
to arrive at 10:15,

2. (AMr. Wallace bought his

daughter a birthday present.

B) Mr. Wallace asked his
daughter’s boyfriend to be
present at her birthday
party.

(C) Miss Wallace was given a
birthday present by her
boyfriend.

(D) Mrs. Wallace bought her
daughter a birthday present.
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(A) After John had studied
mathematics, he went to
France.

(B) John studiéed mathematics
more than expected.

(C) John wanted to be an
mathematician.

D) John didn't study math-
ematics.

(A) Mrs. Muller is afraid of the
effects of smoking.

(B} Mrs. Muller is afraid she’ll
be taken ill if she keeps
drinking.

(O Mrs. Muller is afraid that
she will be spoken ill of by
her friend if she doesn’t give
up drinking. _

(D) Mrs. Muller doesn’t know
the dangers of drinking.

. (&) Kathy paid $50.

(B) Kathy paid $15.
(©) Kathy paid $25.
) Kathy paid $75.

{A) Tom was on the ropes.

(B)An old man knew . how
things worked at the firm.

(0). The firm was controlled by
an old woman.

(D) Tom became friends with
an old man.

7. (8 Only Bill

10.

submitted the
reports. ‘

(B) Every student handed the
reports to Bill.

(C) Every student except Bill
didn’t submit the reports.
(D) Only Bill didn’t turn in the

reports. '

(A) Peter’s yearly salary is
about $5, 000.

(B) Peter’'s weekly salary is
about $500. |

(C) Peter's weekly salary is
about $1, 000

(D) Peter’'s monthly salary is
about $1, 000.

(A) Tom must study psychology
for his test.

B) Tom was born on Wednes--
day.

(C) Tom has to read the book
of psychology on Wednes-
day.

(D) Tom has a class qti Wednes-
day.

(A Mr. Baker wants to study
hard to meet his father’s
will. -

(8 Mr. Baker keeps his nose
clean.

{C Mr.
hard.

(D) Mr. Baker works constant-
ly on a definite schedule.

Baker didn't work



11.

12.

13.

14.

(A) Jim had no work to do, so
he went to the movies.

(B) Jim wanted to go to the
movies, but had so much
work to do.

(C) In spite of much work to do,
Jim went to the movies.

(D) If Jim hadn’t so much work
to do, he would go to the
movies.

(A) The lecture began at 3
o'clock.

(® The lecture began at 3: 15.

() The lecture began at 3 : 50,

(D) Prof. Edwards’ lecture was
delayed by his illness.

(&) Joe didn't study Spanish

composition on Tuesday.
(B)Joe practiced Spanish

composition because he.

liked it very much. ‘
(C) Joe had a class on Tuesday.

. (D) Joe had to teach Spanish on

Thursday.

(A Harry wants to study hard
in October.
(B) Harry plans to study hard
“to finish his thesis.
{C) Harry had finished his
thesis by October.
(D If Harry had not finished his
" thesis, he would not have
attended the meeting.

15.

16.

17.

18.
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(a) Jim finally found a job as a
musician. '

‘B) Jim became a scholar in-
stead of an artist.

(C) Jim became an artist in-
stead of a sailor.

(D).Jim’s purpose in life is to
become a mathematician.

(A) Susanne came to see me
yesterday. '
(B) Susanne changed her mind
to call me up.

(C) Susanne was expected to
see me today.

(D) Susanne didn’t come to see
me yesterday.

(A) One-fourth of the clothes at
Parker’s shop were sold out.

(B) One-fourth of the clothes
are now on sale.

(C) Prices are as much as 25
percent lower.

(D) Prices on all the clothes are
one-fourth lower than any
other shop. .

(A) Henry prefers Beethoven to
Mozart. f

(B) Henry prefers Mozart to
Beethoven.

(C) Henry doesn't like rock
music or jazz.

(D) Henry performed the music
of Mozart formerly.
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19. (A Suzie and Jerry are good

friends. ‘

(B) Suzie likes Jerry more than
anyone else.

(C) Suzie had words with Jerry
in class.

(D) Suzie is not on good terms
with Jerry.

20.

Part B_

(&) Dan and James stayed at an ‘
inn.

(B) Dan stays at an inn, but
James didn’t.

{C) James stayed at an inn, but
Dan didn't. _

(O.Dan did not put up with
James. '

Directions: In Part B you will hear fifteen short conversations between two
speakers. At the end of each conversation, a third voice will ask a question
ahout what was said. The question will be spoken just one time. After you
hear a conversation and the questions about it, read the four possible answers
and decide which one would be the best answer to the question you have heard.
Then, on your answer sheet, find the number of the problem and mark your
answer.

21.

22.

3.

(A) About murder.
(B) About love.

(C) About humanity.
(D) About music.

&) In an office.

(B) In a restaurant.
() In a theater.

(DY In a café.

(A) Making a purchase.
(B) Running.

{0) Studying.

(D) Investigating.

o,

25.

(A) $35.

(8) $65.

© $20.

(D) $55.

(&) Cooking.
(B) Washing.
©) Walking.
(D) Shopping.



26.

27,

28.

29.

30.

{A) They want Mary to visit
them.

(B) Mary will not give them a
call because she is very
busy. o

(C) They think Mary will call
them up if she gives up her
report.

(D) The man is Mary’s teacher.

(A) They thought that the play
was fascinating.

(B) The man thought that the
play was dull.

© The man thought the play'
was excellent, but his-

mother thought it was too
dull.

D) The man was fascinated by
their performance. -

(A) Operator.
(B) Instructor.
() Guide.

(D) Salesgirl.

&) To take a picture.

®) To go with him.

{C) To buy brushes for him.
(™ To do his homework.

{A) A broken watch.
(B) A reasonable price.
(© A broken TV set.
(D) Mr. Price.

31.

32,

33.

34.

35.
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(A) Jim will go right home after
his class. :

® Jim will go home about
6:00.

(C) Jim will go to the llbrary at
4: 00, _

(D) Jim will go to the labora-
tory at 3:00.

(A) Because her mother was ill.

(B) Because she had a pain in
her mouth. :

(C) Because she will be hospi-
‘talized.

. (D) Because she heard about

her mother’s death.

(A) To- become "an eminent
philosopher. =

(B) To buy MacGregor’s book.

{O To write a book.

(D) To publish an essay.

(A) Drums caused the terrible
sound. "

(B) Tom was playing his drums.

() The man was irritated by
the terrible sound.

(D) Tom had a terrible nervous
breakdown.

(&) A physicist.

'(B) A physiologist.
{C) A pathologist.

(D) A physician.
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Part C

Directions : In this part of the test, you will hear several short talks and/or
conversations. After each talk or conversation, you will be asked some
questions. The talks and questions will be said just one time. They will not be
written out for you, so you will have to listen carefully in order to understand

and remember what the speaker says.

When you hear a question, read the four possible answers in your test book and
decide which one would be the best answer to the question you have heard.
Then, on your answer sheet, find the number of the problem and fill in (blacken)
the space that corresponds to the letter of the answer you have chosen

36. (A On July 1, 1815. ' 40.

~ (BYOn July 1, 1859.
(© On June 1, 1915.
(M On August 1, 1950.

37. WAt 7:30.
(B At 7:50.
- At 7:15.
(D At 7: 00,
38. (A)Lake Erie.
(8 Lake Ontario.
€ The Atlaptlc Ocea.n.
" (D) Niagara Falls.

39. (50 miles an hour.
(B 90 miles an hour.
(01,200 miles a day. 4
(D) 60 miles an hour.

41.

1

(A) He believed that to cross -
"the U.S. would be possible.

(B) He believed that the rate of
90 mxles an hour was pos-
sible. \

(©) He believed that it would be
possible to cross the Atlan-
tic Ocean. -

(D) He believed that to cross
the ocean is difficult in such
a balloon.

WA good pair of shoes.
(B) A good necktie.

© A birthday 'prenent
(D) A painting,

. - (A) He found all the shoes were

sold out.

®) They have no shoes.

(C) Neckties were on sale.

(D) He found nice neckties on
the counter S “.‘



43.

44.

45.

46.

{A) 54 years old.
(B) 53 years old.
(C) 55 years old.
(D) 50 years old.

(A) With blue stripes.

(B) With yellow stripes.

(C) With' dark brown and yel-
low stripes.

(D) With light brown and blue
stripes.

(A) Because the Dutch excelled

in one way or another.

(B) Because they were richer
than the Dutch.

(C) Because they would beat
the Dutch in war.

(D) Because the Dutch did not

bring their lifestyle to the

New World.

(A) An industrious lifestyle.
(B) Many literary works.
(©) Sailing vessels.

(D) The art of fishing.

47.

48.

49.

50.

SECTION-1 9

(A) Because the Netherlands
were in the Low Countries.

(B) Because the Netherlands
were in the north of Europe.

(C) Because the Netherlands
were ideally located for
trade. |

(D) Because the Netherlands
were rich in minerals.

(A) Because it was similar to
Spain. ‘

(B) Because it was ruled by
Charles V and Philip IL

(©) Because it was famous as
its port.

(D) Because it has much beau-

" tiful scenery.

A{A)'I-t was prohibited.
- (B) It was restricted only in the

Spanish Netheriands.

(©It was granted only to

Catholics.
(D) It was practiced.

(A) Religion, o

(B) Safety and a means of liv-
ing.

(C) Vessels.

(D) A stable lifestyle.
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SECTION 2

‘Structure and Written Expression

Time : 25 minutes

This section is designed to measure your ability to recognize Iahguage that 1s
appropriate for standard written English. There are two types of questlons in
this section, with speclal directions for each type.

Part A

Directions ; In Part A each problem consists of an incomplete sentence. Four
" words or phrases, marked (A), (B), (C), (D), are given beneath each sentence. You
are to choose the one word or phrase that best completes the sentence. Then,
on your answer sheet, find the number of the problem and mark your answer.

1. Dan Murphy does not -+ 2. ++.eeoees that the time will soon

travel by plane because the be ripe for intervention in
weather is too unpredictable. Iran, they would be faced by a
(A) rarely large army.

(B) barely (&) It is believed

(C) usually (B) Should they believe

(D) hardly - (C) They would believe

(D) If they would believe



rrereaves to discover that there
was no.play by Shakespeare
. that couldn't be performed in
a fast 45 minutes. |
() It is less surprising

® It is less surprised .
(C) They were less surprising

. (D) Surprised

Hardly --:---o. a good job
without putting his best foot
forward at his job interview.
(A) ever Jim gets

(B) ever has Jim get

(O ever Jim may get

(D) ever does Jim get

Though she didn’t feed her
baby milk or feods, he could
- () feed by himself

(8) feed of himself

() eat himself up

(D) eat by himself

ssssscens theresult of his _previ.

" ous investigation was unsatis- -

factory, Prof. Smith decided

to search for the new element.

(A) Although
® Despite
" {C)Unless
‘D) Regardless of

10.

SECTION-2 11

Given Mr. Pisner’s fe_sponsi-

bilities, ++++e--- privacy.

(4) preferred promotion may
be

(B) promotion may be more

preferable to |
(O promotion may be prefer-
able to

~ () he may be preferable to

Carl Benson Reid is the
funniest Bottom that --+«+-.- _

" (&) I've lain eyes on .

@®) I ever lie eyes on
() I've ever lay eyes upon
(D) I've .ever laid eyes upon -

It was recommended that the
students «--e-<e.0 their reports
as soon as they could..
(a) finished writing

(B) finish writing

(C) should finish written
) finished the writing

Losing the legislative veto is

not ++e-eeees lo§ing ' legislative

power.

(A similar with -

(B8) the same as
© like to

(D) like as



